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Name

Date

Fix It

Tell your partner what went
wrong here.

Estimate, then solve it
correctly.

A. 80 — 56 = 80 — 56 =
80=80+0 > | 80=
56 =50+ 6 V. ! 56 =
30 -6 =36 (,fw‘
Estimate:
B' 7 19
89 89
— 52 — 52
217
Estimate:
C. 165 - 71 = 165 — 71 =
165 =100 + 60 + 5 190
/1= 70+ 10 -
30 +59 +5=85
Estimate:

Make Connections with Subtraction
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Name

Date

Tell your partner what went

Estimate, then solve it

wrong here. correctly.
D. 01813 | can'tdo 3 -5
so | will trade 100
182 for 10 tens 183
— 35 L, — 35
158 @
-
Estimate:
E. 16 14
284 | traded a skinny 264
for 10 bits so | do not
_1—::32 have 6 skinnies anymore. — 128
g Estimate:
F- 8 10
93 93
— 27 — 27
63
Estimate:

472
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